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& B B BB 67 16 83 (43 40 ) 350 B B IF &% 65 18 83 (40 43 ) 310
26 el B 69 27 96 (49 47 ) 355 26 fEfA A 66 22 88 (44 44 ) 330
3 HEZEZ 69 15 84 (44 40 ) 365 3hr FHEE 67 18 85 (39 46 ) 300
A BREE 70 16 86 (40 46 ) 320 ART AR —3 67 15 82 ( 43 39 ) 355
5fr Bk B= 71 13 84 (41 43 ) 345 BRI HAK B 68 22 90 (45 45 ) 340
661 IR FE 71 5 76 ( 40 36 ) 375 6hr ik BE 69 20 89 ( 44 45 ) 340
Th A 71 29 100 ( 52 48 ) 375 Thi  AHE R 70 25 95 (49 46 ) 365
8h  #k F= 72 25 97 (48 49 ) 355 8hr 4L FEH 70 18 88 (46 42 ) 370
9hr K EfE 72 12 84 (42 42 ) 360 91 HBEFF 71 27 98 (47 51 ) 335
1067 45BE B — 72 15 87 (44 43 ) 365 1067 BPA Br— 71 10 81 (39 42 ) 340
156 % #E 73 19 92 ( 46 46 ) 365 1560 SEK —% 72 22 94 (47 47 ) 360
20 FAA BE 75 5 80 ( 42 38 ) 395 20f7  #AD =T 73 18 91 (44 47 ) 350
250 PR HE 77 19 96 (50 46 ) 405 25 xtH #A 74 17 91 (45 46 ) 365
30fz I BE 80 21 101 ( 53 48 ) 425 30 FEiE &= 75 16 91 (45 46 ) 370
35y EHM AIE 83 15 98 (47 51 ) 395 35 KIF WE 76 19 95 (b1 44 ) 415
400y ER B4 87 16 103 (51 52 ) 430 400 PEE Exig 77 13 90 (46 44 ) 395
AR RAJR HE— 78 20 98 (52 46 ) 420
50  #BISF ERTF 80 30 110 ( 54 56 ) 390
60z JIlO B 83 30 113 (59 54 ) 440
BBE HHt B 87 22 109 (57 52 ) 460 BBE %7 Z5h 91 27 118 (61 57 ) 475
BGE LUK Tk 76 (40 36 ) Par 72 J—XL—k  RO—ZL—hk

BEi(F) 6606 yard 713 128

BEi(E) 6237  yard 69.5 123

BiE(2) 5892  yard 68.1 119

BEiE(%) 5281  yard 64.9 114

(%) 5281  yard 70.1 123

i (FR) 4878  yard 67.8 119




